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(1) & % I &
EXRMEERLE 1,200 1,200 0
EXMESZTAR 1,200 1,200 0
HEEEERKTE 0 0 0
HEEESZIAR 0 0 0
S EE 6, 776 6, 516 260
B ® B % 6, 776 6, 516 260
E X XK 416, 330 389, 781 26, 549
B FEINE 416, 330 389, 781 26, 549
HOIN I 0 0 0
% W OF® R 0 0 0
w8 X &£ 3 424, 306 397, 497 26, 809
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= 3 = 422,158 395, 970 26, 188
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wm o F B 258, 007 245,155 12, 852
B B E & &£ 4, 629 2,754 1,875
B B B 4 & A 11 244 A 233
B M B £ E 52, 390 50, 206 2,184
kR E X B8 & 115 137 A 22
o & W E 3, 668 3, bbb 112
i R 1=~ | R 497 440 b7
HEGHRERE 512 0 H12
H %2 & 8, 225 7, 039 1,186
& & Z 3,076 1,023 2, 053
N R & X # 1,073 676 397
78 = Z 11, 604 11, 040 h64
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g ] # 14, 815 14,778 37
R B o 3, 398 1, 758 1, 640
M OB A & 37,872 35, 669 2,213
X th B #H % 515 523 A 8
E3 é - 3, 130 3, 163 A 23
F # # 683 615 68
I £ F &8 B 14, 850 14, 850 0
K & B & & 22 22 0
& & g 1 1 0
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® B # M 34 34 0
w8 FOH 800 172 28
R B e A+ & M 1 1 0
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R B2 X B B 1 1 0
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H O # & = 16 15 1
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i I - 24 17 /
g C] # 90 88 2
(5 ES # 12 10 2
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B ERMEHEERS 100, 000 100, 000 0
B EMREEHXRES 100, 000 100, 000 0
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EXMEERT 0 0 1, 200 0 1, 200

EXRMESZTAR 0 0 1, 200 0 1, 200

HEEEERT 0 0 0 0 0

FE&ESIH R 0 0 0 0 0

SIREMEE 0 0 6, 776 0 6, 776
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E XN & 0| 416, 330 0 0| 416, 330

ISR A 0| 416, 330 0 0| 416, 330
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B 6 1+ & A 1 10 0 0 11
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kR & X B & 1 114 0 0 115

wfEE kB 36 3, 632 0 0 3, 668

o E A B 21 476 0 0 497

HEMNSRRELE 0 b12 0 0 512
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ST OO N~ 1,073 0 0 0 1,073
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g Ei # 278 14, b37 0 0 14, 815
& 29 £ 24 3, 374 0 0 3,398
iR /N S 1 37, 871 0 0 37,872
X B8 H &£ 4 b11 0 0 b1b
% B & 30 3, 100 0 0 3, 130
F # £t 7 676 0 0 683
T % 88 0 14, 850 0 0 14, 850
L& 8 & & 22 0 0 0 22
7 & & 0 1 0 0 1

T B £ 0 0 1,575 0 1,575
& B #W B 0 0 34 0 34
m o F o3 0 0 800 0 800
B 6 & A 0 0 1 0 1
2 M B &£ & 0 0 237 0 237
£ & & 0 0 30 0 30
R S & 0 0 50 0 50
kR & X B & 0 0 1 0 1
wmE E Wk E 0 0 36 0 36
H £ & B 0 0 16 0 16
S # & 0 0 19 0 19
R K HEBE 0 0 24 0 24
g Ej i 0 0 90 0 90
& B # 0 0 12 0 12
M o A F 0 0 184 0 184
< &8 #H % 0 0 4 0 4
% B & 0 0 30 0 30
F # o 0 0 7 0 7
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— B GRR EMAA 204|  6.047] 7,082 0| 13333
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R M E MR 0 0 100, 000 0] 100, 000
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